FERBFEZRD)—UIUMBN LS HKERERR

BEK IR SR BRI D AR

HE BIEAR By EEEE 48 58 6A 7A 8H 98 108 11H 12| 1B | 2H | 3H
KEAFVEE #A 5.8~8.6 6.7 6.5 6.8 6.6 6.7 6.4 7.0 6.4 6.3 6.4 6.5 6.3
EVLEMBRERS &8 mg/| 60 4 4 4 < < 4 4 < < < < <
LEMBRERE 8A mg/| 90 0.9 1.2 1.2 1.9 1.0 2.1 2.0 2.4 2.9 3.0 1.2 0.8
FlEYMEE 8A mg/| 60 <1 <1 <1 <1 <1 <1 4 2 4 < 1 1
LAY EEEE (BHEEEE) 4 meg/| 5 < - - - - - - - - - - -
AU BE SR E (EEYREEEE =) 4 mg/| 30 <A - - - - - - - - - - -
Jr/—)¥EEEE 4 mg/| 5 <0.02 - - - - - - - - - - -
et = 4 mg/| 3 <0.01 - - - - - - - - - - -
BinSE=E 4 mg/| 2 0.01 - - - - - - - - - - -
BEMBERE 4 mg/| 10 0.02 - - - - - - - - - - -
BREETUAVEESE #A mg/| 10 048 | 046 | 127 | 066 | 009 | 023 | 038 | 132 | 092 | 153 | 088 | 0.32
JOLERE 4 mg/| 2 <0.05 - - - - - - - - - - -
ARV LBRUVZDILEY 4 mg/| 0.1 <0.01 - - - - - - - - - - -
STUIEEY 4 mg/| 1 <0.1 - - - - - - - - - - -
ARBLEMNITFAY. FFINTFEY . AFLY AU RUEPNIC 4 me/| 1
3. ) <0.1 - - - - - - - - - - -
MEUZDIEEY 4 mg/| 0.1 <0.01 - - - - - - - - - - -
ANfionLEEY 4 mg/| 05 <0.05 - - - - - - - - - - -
MERUVZDELEY 4 mg/| 0.1 <0.01 - - - - - - - - - - -
IKERRUT N+ IKERZ Dt DIKERIE & 4 mg/| 0.005 <0.0005 - - - - - - - - - - -
TILEILKERIE A 4 mg/l | gHEhmece BEEE o 0 0 L o o
RUEIREDIZIL 4 mg/| 0.003 <0.0005 - - - - - - - - - - -
r)yopIFLy 4 mg/| 0.3 <0.03 - - - - - - - - - - -
ThSoBAIFLY 4 mg/| 0.1 <0.01 - - - - - - - - - - -
SHOQARy 4 mg/| 0.2 <0.02 - - - - - - - - - - -
migfkixE 4 mg/| 0.02 <0002 - - - - - - - - - - -
1,2—o9ARI4Y 4 mg/| 0.04 <0.004 | - - - - - - - - - - -
1,1—=90ATFLY 4 mg/| 1 <0.02 - - - - - - - - - - -
SR—12—oHOAIFLY 4 mg/| 0.4 <0.04 - - - - - - - - - - -
111—k)ynnT4y 4 mg/| 3 <0.03 - - - - - - - - - - -
112—k)y0nT4y 4 mg/| 0.06 <0.006 - - - - - - - - - - -
1,3—Ysnnoxky 4 mg/| 0.02 <0002 - - - - - - - - - - -
FooL 4 mg/| 0.06 <0.006 | - - - - - - - - - - -
DN 4 mg/| 0.03 <0.003 | - - - - - - - - - - -
FARVAILT 4 mg/| 0.2 <0.02 - - - - - - - - - - -
vty 4 mg/| 0.1 <0.01 - - - - - - - - - - -
LU RUZFDILEY 4 mg/| 0.1 <0.01 - - - - - - - - - - -
IF5FRRUVZEDELEY 4 mg/| 50 0.3 - - - - - - - - - - -
AORRUVZDIEEYN 4 mg/| 15 0.3 - - - - - - - - - - -
TUEST. TUESYLMES Y. BB S MR UREILSY 4 mg/| 200 4 - - - - -
KiaE B #A | E/cm3 | BRIF#3,000 0 0 0 0 0 0
RERIER #A mg/| L 0.3 0.4 0.2 1.2 0.6 05 0.4 0.2 0.5 1.4 0.8 0.2
14=—F %90 4 mg/| 0.5 0.007 - - - - - - -
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FERBFEZRD)—UIUMBN LS EKERERR

TR (CER)

EH BIER B | IREE%EE | 4 58 | 6A | 7A | 8A | 9A 108 (11A 128 | 1A | 2A | 3A
KEAFVEE #=A L L 6.3 7.7 74 7.1 7.5 7.0 7.3 6.9 7.3 7.1 7.0 6.9
BikmA4> #A mg/| L 213 | 208 | 223 | 253 | 240 | 220 | 183 | 226 | 214 | 217 | 246 | 213
EREER #A #S/cm L 176 180 185 187 180 189 183 201 176 183 174 195
AREOL 4 mg/| 0.01 <0.0003, - - - - - - - - - - -
2T 4 mg/l | EaaLcE b - - - - - - - - - - -
Fi) 4 mg/| 0.01 <0.005 | - - - - - - - - - - -
FfiZ 0L 4 mg/| 0.05 <0.005 | - - - - - - - - - - -
fitts= 4 mg/| 0.01 <0.001 - - - - - - - - - - -
#IKER 4 mg/| 0.0005 <0.0005 - - - - - - - - - - -

Bishis

TILEILIKER 4 mg/l | #EIhELIE |0 - - - - - - - - - - -
HEIE T 4 mg/l | EaaLcE b - - - . - - - - - - -
k)yooIFLy 4 mg/| 0.03 <0.002 - - - - - - - - - - -
ThZoBAIFLY 4 mg/| 0.01 <0.0005| - - - - - - - - - - -
Prisi=pl 4 mg/| 0.02 <0.002 | - - - - - - - - - - -
migfkixRE 4 mg/| 0.002 <0.0002 - - - - - - - - - - -
1,2—o9ARI4Y 4 mg/| 0.004 <0.0004 - - - - - - - - - - -
1,1—=90ATFLY 4 mg/| 0.1 <0002 | - - - - - - - - - - -
12—o90AIFLY 4 mg/| 0.04 <0.004 | - - - - - - - - - - -
111—k)ynnT4y 4 mg/| 1 <0.0005| - - - - - - - - - - -
112—k)y0nT4y 4 mg/| 0.006 <0.0006| - - - - - - - - - - -
1,3—ysnn7oRky 4 mg/| 0.002 <0.0002 - - - - - - - - - - -
FooL 4 mg/| 0.006 <0.0006| - - - - - - - - - - -
DESM 4 mg/| 0.003 <0.0003 - - - - - - - - - - -
FARVALT 4 mg/| 0.02 <0002 | - - - - - - - - - - -
vty 4 mg/| 0.01 <0.001 - - - - - - - - - - -
h 4% 4 mg/| 0.01 <0.002 - - - - - - - - - - -
F5% 4 mg/| 1 <0.02 - - - - - - - - - - -
S0FEK 4 mg/| 0.8 0.08 - - - - - - - - - - -
HEBMEERRUEEBEESR 4 mg/| 10 0.01 - - - - - - - - - - -
AHARRFRTOC) 4 mg/| 3 0.1 - - - - - - - - - - -
14— %90 4 mg/| 0.05 <0.005 | - - - - - - - - - - -
EiEZILE/7— 4 mg/| 0.002 <0.0002] - - - -

I S(IHRY =AVR) /em] RS 1em, BRIAB 1cm2D I ARICEREFRLEZBOEFOEES L, BIENSWNIEAFUNELEENTLSERLTLET  ImS/m Sy —4vR)=10 4 S/cm
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FERBFEZRD)—UIUMBN LS KERERR

#TFK(FHR)

EH BIER B | IREEAEE | 4 58 | 6A | 7A | 8A | 9A | 10A (11A 128 | 1A | 2A | 3A
KEAFVEE #=A L L 6.1 6.3 6.0 6.0 6.2 5.9 6.5 6.2 6.2 6.3 6.1 5.8
B4 #A mg/| L 14.8 9.9 129 | 146 | 158 87 | 141 7.8 8.4 136 | 131 | 147
EREEER #A #S/cm L 233 273 291 287 291 184 285 157 193 261 263 272
AREOL 4 mg/| 0.01 <0.0003, - - - - - - - - - - -
2T 4 mg/l | EaancE b - - - - - - - - - - -
Fi) 4 mg/| 0.01 <0.005 | - - - - - - - - - - -
FfiZ 0L 4 mg/| 0.05 <0.005 | - - - - - - - - - - -
fitts= 4 mg/| 0.01 <0.001 - - - - - - - - - - -
#IKER 4 mg/| 0.0005 <0.0005 - - - - - - - - - - -

Bshis

TILEILIKER 4 mg/l | BHELELIE [0 - - - - - - - - - - -
HEIE T 4 mg/l | EaaLcE oo - - - . - - - - . - -
k)yooIFLy 4 mg/| 0.03 <0.002 - - - - - - - - - - -
ThZYBAIFLY 4 mg/| 0.01 <0.0005| - - - - - - - - - - -
Prisi=pl 4 mg/| 0.02 <0.002 | - - - - - - - - - - -
migfkixRE 4 mg/| 0.002 <0.0002 - - - - - - - - - - -
1,2—o9ARI4Y 4 mg/| 0.004 <0.0004 - - - - - - - - - - -
1,1—=90ATFLY 4 mg/| 0.1 <0.002 | - - - - - - - - - - -
12—90ATIFLY 4 mg/| 0.04 <0.004 | - - - - - - - - - - -
111—k)y0nT4y 4 mg/| 1 <0.0005| - - - - - - - - - - -
1,12—k)y0nT4y 4 mg/| 0.006 <0.0006| - - - - - - - - - - -
1,3—ysnn7oRky 4 mg/| 0.002 <0.0002 - - - - - - - - - - -
FooL 4 mg/| 0.006 <0.0006| - - - - - - - - - - -
DEON 4 mg/| 0.003 <0.0003 - - - - - - - - - - -
FARVALT 4 mg/| 0.02 <0.002 | - - - - - - - - - - -
vty 4 mg/| 0.01 <0.001 - - - - - - - - - - -
h4%% 4 mg/| 0.01 <0.002 - - - - - - - - - - -
F5% 4 mg/| 1 <0.02 - - - - - - - - - - -
A0oF%K 4 mg/| 0.8 <0.08 - - - - - - - - - - -
HEBMEERRUEEBEESR 4 mg/| 10 5.45 - - - - - - - - - - -
AHARRFRTOC) 4 mg/| 3 0.3 - - - - - - - - - - -
14—F 390 4 mg/| 0.05 <0.005 | - - - - - - - - - - -
EiEZILE/R— 4 mg/| 0.002 <0.0002 - - -

I uS(IHRY =AVR) /em] RS 1em, BRIAB 1cm2D I ARICEREFRLEZBOEFOEES L, BIENSWNIEAFUNELEENTLSERLTLET  ImS/m Sy —4vR)=10 4 S/cm
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